QE,. AXZHBXTL =2 & — v solve

Q -

QF: (é=l‘\~x7--\'@5"“c- _&"—‘h%moh
Ne

0=3 -..___s.oj;ye,,Q,ﬁé,d ratic Equations
by Graphing

#@6al: - Solve quadratic equations by graphing. |

ST DA D Rhem of A OFE

Your Notes VOCABDIARY » A x24 BX+4C=0 where] A% O
- A B C |reel BiS

‘Qu'adratic equation
SoLoTions To QE's ¢ arethe Xinterceprs
e Loith Yhe coorddnctes (X,0)

~,_No1fce THE Y-Co0aDinATE |S ALULIANS ZEROD

3¢l SR Solve a quadratic equation having two solutions
G — Solve —x2 + 2x = —8 by graphing.
Ef;\ﬁ_\f%_———f—— ' E Stegﬂl Write the equation in STPeIpe & oM

@ Fo-hd"'b STHFeess * —x2 + 2x = —8 Write original equation.
@ Fimo P68, C QEY —x2+2x+8 = _",‘,:t: ﬁgd K to eat;lﬁ;;ji
@ Finn A5 W‘Graph the function y = alx";ﬁ-”l- 2x + 8. -
x = ’ZK — " The x-intercepts are Mnd L‘;h‘()\
@ Fian e Uertex BEY ’,'r;':D AP
@ [ recte atte ot ! A AS:  x= ——257\ = :z'%-h Xj__l_‘

Hy THhe 10

5yelves W Vertex: (\ q \
Ve rYer v Pﬁ"; A 3 \L\(’j‘:‘b\ ‘%’--(ﬂ 24200+ =9

— she \,u "
@G‘”f"" i pE 7L( VAL Af g Xr-l1o1l 2
—3)3(1 TR 110'5“'3'2?“&5&0 »
VTN TGS x=t ,

Review e Mortias, He The solutions of the equation —x2 + 2x = —8 are —Z 1

Soeve Q€ and f . CX”"’-]E

CHECK You can check -2 and “f in the original

—AT+2X & =0 | O
- quatlon. =—2 ) =Y ‘

—x2 = — —y2 _ _
1 (X=4)Xx32 )= o [¢& X tx=-8. /" +}X 8
L/ N\ ("t P+2-2)<-8 —(4 )2 +2( )2 -8 |
72=0 =4 < =4 = =0 —-le 4% = -§% 5
X-4=0 X+ _ . gy
@ X=" \
./ The. Solobons X=-2,4% heve +he

Ordered pirs  (-,0) and (Y,0) |
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Your Notes Example 2 WK quadratic equation having one solution @
Solve x2 — 4x = —4 by graphing. y )
- Step 1 Write the equation in
standard form.
x2 — 4x = —4  Write original
equation.

X2 —4x+4=0 Add Y to R B

el

—__ each side. TV O\ yenkex gt.o'
Gn

Step 2 G'Q&PH the function y = x2 — 4x + 4. Xk C o)
The x-intercept is 2 . |
=&

The solution of the equation X2 — 4x =.—4is

(99 M(’ ~
=

.
(/

. o 4 —
kst x=35 - [X°2

:2'.-
| g ExTx e X1 o1 o [2)1 3\ 4
to Groph YV« v Jol v 1 ¢
A"

WE CA’\&h 30\\/H\JV\ '\\y\ ‘e dv‘té €
. 4
cs(2) 1) = -

4 -8 =1
__.\( — "““\’ L/

Facroe TOo FIaS 2Zers'S

—5 Xt -4x +4% =0

(X~- 2 Yx—=2) =0 | > To Solue
(X—Z)I':O X-2=0
X=



Solve a quadratic equation havmg no solution

) Solve x2 + 8 2x by graphmg y

. - w

*Stepi—Wﬂte the equation in A /
standard form. . 0

2 4 Q Wt . ‘
X<+ 8 = 2x  Write original ¥ < -\_,_..
A equatlon m

Xz ——ZX 1% = Subtracté?)\ —— T '
~ |from each side. — \{/q == @
Step 2 G“ff ‘the functlonly = X+ -Zx +3)

Fhe graph—has—ﬂ x-intercepts. -
The equation x2 + 8 = 2x has Mo SoLu Tiaw

S Facwas  xt- Zx+%~0 '
C‘cnno" Factor. \?L‘Mt !

|

j X = No SQLuT\d)

4

o ‘O Checkpoint Complete the following exercise.

Solve the quadratic function by graphing (FUNC.e.4)

For the graph include a table with 5 points; and
clearly label y-intercept, axis of symmetry, vertex and x-intercept(s).

State solution(X=__ ) and circle.
Then Check all solutions in the original equations.

—
1 = 2 4 3 Q'L [N - :—S—' . SmEm——— - "2-
) f(X) x°+ x+K A.SL A% X = ZA 2 ()

SaluTons lm

C: (-3 44 (-3) +3 =
O=0 /




Your Notes UMBER-OF SOLUTIONS OF A-QUADRATIC EQUATION
C§ guadratic equation has two solutions if the graph of

its related function has &l X indercepts .

<a quadratic equation hz—zone solution if the graph of its

related function has Xintercept

2/A quadratic equation has no solution if the graph of its

related function has _No X Talercepts

MO SoruTmiIN

i o SoluNewS -
. — ‘ |
Y ¥ 17 'S
: WReS
 Seasdanibar "‘l"—’fx
X > : _ X \[\/
Y. A
S o
Voco b d\or} - RELATING SOLUTIONS OF EQUATIONS, x-INTERCEPTS
OF GRAPHS, AND ZEROS OF FUNCTIONS
wn Yae
These. meawn _ Solutions of an Equation Ke.:.é e Gfe?"‘
S“'";‘ \;y&iw& The solutions of the equation x2 — 11x + 18 are Q.
o O
| and :
® X \ ,/\\-21'(,??‘3 (x/ 0) i "
e Zero's ? Axlebx4¢20]  x-Intercepts of a Graph
T The x-intercepts of the graph of
i y = x2 — 11x + 18 occur where
KH oo ) y = (), so the x-intercepts are
gmework A and 9 , as shown. (2\ ~
' - 9.0
LD ‘g Zeros of a Function
Tfed w” The zeros of the function
F.mcﬁ ~ f(x) = x2 — 11x + 18 are the values of x for which
L No m(;sau f(x) = () ,sothe zéros are 2 _and 9 .

O = X% —\Ix +\&
{N/mq' o =(x=-a) (x-2)
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